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CLASS SCHEDULE

DATE TOPICS & SUB TCPICS

14 -11-2023 Simplification Part 1 — VBODMAS, JARE & CUBE ROOT, POWER &
INDICES, FRACTION SO

15-11-2023 Simplification Part 2 — ALGEBRA, WORD PROBLEM (Equation solving)

20—-11-2023 Percentage Part1 A\(}// .

21-11-2023 Percentage Part 2 - Profit & Loss, Discount, GST

27-11-2023 Least Common Multiple (LCM)

28 - 11 -2023 Highest Common Factor (HCF)

04—12 - 2023 Ratio & Proportion Part 1

05-12-2023 Ratio & Proportion Part 2 — Ages, Mixture & Allegation

11-12-2023 Simmq\\rn/terest @m P

CLASS NO

0 12 —12-2023 Compound Interest Part 1 =" (_ \,DD/
Q N
18 — 12 — 2023 Compound Interest Part 2
2 19-12-2023 Area Part 1 -Square, Rectangle, Circle =
N

w

25— 1?375023 Area Part 2 — Triangle, Quadrilateral, Trapezium, rhombus

26 —12-2023 Volume Part 1 — Cube, Cuboid, Cylinder

H
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CLASS SCHEDULE

01-01-2024 Volume Part2 - Coﬁ\esgbhere, Hemisphere
02-01-2024 Time & Work _
08-01-2024 Time & Distance
09-01-2024 Number system (A.P)
15-01-2024 Number system (G.P)
Il 16-01-2024 Logical Reasoning
22-01-2024 Puzzles & Dice
71 23-01-2024" ‘Alphanumeric Series
“ 29-01- 2@2@'} Visual Reasoning

" J5 0 30-01-2024 Probability
“ 31 —\02153\—‘2024 Miscellaneous — Statistics
.| 17-02-2024 Maths Revision 1
_ {\iﬂ\: 02-2024 Maths Revision 2




PERCENTAGE (&86ai8L0/all(0551(6)

TYPE 1 PERCENTAGE
o, X =\Bo-

If 30% th is 1‘30 then x is

X @Gm 30% amug‘ 150 };rsoﬂa) @@aﬂ &I S &LD.

(2 8% SN
=<l - &5 x oo =

oc = =297 @ — 25 XDd
= — = S
If x(@ of x =25, then(x =
I — B0
x Ben x % erednugy 25 erevfled x eTedTLS) 3G




PERCENTAGE (g8 apL0/e0(10&81®)

TYPE 1: PERCENTAGE

48 w. T =
48 erebTuE) 61THS m%@m?

22 ~x .
Oox
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( 2% of 25 itres\*’s the same as of 150 litres.

250 aSan.;ﬂa'n@ Gra'JTug) 150 e8I Lifleor 8&&F FnGLD.

(2)10%  (b) 15% d/’zoﬁ (c @ 5 d

><’ e
o Bbx 2O~ 5k
%L‘ vz %‘# \bD 100
2o =

If three candidates A, B and C is a 3 school election go
the percegfage of votes for the winaRr s

& uetefld Gaiigedley A, B ommib C speéu Wm 153, 245 womub 5

102 euné&@aementl elummentl] ereufled, GleumuIGment aumnm & ggefisiD 2 GLD.

(a) 48% ;5@% ()50% " (d) 45% © é@ — X 0D
: 153245 4 103




15% of 25% of 10000 =

10000 @6t 25% wAdlebr 15% arsbrus —
(a) 375 b) 400 c) 425 d) 475
:)(_7@,‘32 — 6O —= 60O
\0®
\[/

When 60 is subtracted from(¢0% of a.numbeplto give 60, the number is
&Il erevorenofleim / 5 60 26 5@@' meb 60 Slemi &@1D erévfled, Sl'm%@lb.
(a) 60 (b) 100 c) 150 / d) 200

DQX/@ LD = J

—\,%&’U

X ZAD YD = SR




If 48% of 48 = 64% of x, then x=
48 @etr 48% = x @et1 64% erevfled, x @evr L]

(a) 64 (b) 56 (c) 42 (d) 36

In a school 0f{1400 students, there are§420 ;irlsi The percentage 6f boi} in the school

1S

&6 uenafluiled o_eiem 1409 nesoreyi&eafled 420 Gui om

Lona'n g86figlD G @
o0

X 168

reufled, Lenaludgjeran




PERCENTAGE (g8 apL0/e0(10&81®)
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

A number when increased by 18 % gives 236. Find the number.

&l erevvTemennt(l 8% M"d’ 236 dlemL &Ema) er6ufl6D, UG, 6T600TBIEV0T &

: .
SMeUuT&.

—7C * _—N\\ﬁg = b

\ 00

@

) gives-80. Find the number.

—

A number when dectreased b

el eredoremennr 20% GewmEHmeN0 Slgnl &dlng, ereufled, bS




PERCENTAGE (g8 apL0/e0(10&81®)

TYPE 2.1: PERCENTAGE INCREASE/DECREASE

If the difference between 75 % of a number and 60 % of the same number is 82.5, then find

20% of the number.

eIl e160VT 680 l60T ‘@&;@w 2165 erevvrevdflent 60% Q&G emL Guwuyener efldHlwnsd 82.5

ereufleL, SHS srsumasoﬂs_ag ZO‘Y g&, SNE00TS. )
5-5

— oC
Bx @ afs s = K5 oavs
\ob l’OD
L =55\

= S530

;)C/\% SN
5 % oD (\H\ iﬁ

s oW

e 2,9\65’5__ 2 X 65 = \\Y,




PERCENTAGE (g8 apL0/e0(10&81®)
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

A number is increased by 25 % and then decreased by 20% . Find the ct number.

el erevvrevoImenT&l 25% A &SSO LI DG 20% GMDEEILBED ) ereufle, Sbhg erevorenofled

ahul L &g,sﬁg, THDSHMSHE HTETOTS 'Z é )2 %




PERCENTAGE (g8 apL0/e0(10&81®)
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

If the numerator of a fraction is (ncreased by 25% and the denominator is increased by

: 2 . e
10%, it becomes — . Find the orlgmal fraction.

——

S UleTensSlan agne 5166) D, ugdlemw 10% 2 1b & 51&,[ﬂg, 160 SihHG ljlam;or

M) eTeufled, ig6 LletTenTSHemES SNevors.

o

, Tae.
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D an -5
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PERCENTAGE (g8 apL0/e0(10&81®)

TYPE 2.2: PERCENTAGE INCREASE/DECREASE

If a car is sold for ¥200000 from its original price of ¥300000, find

the percentage for decrease in the value of the car.
300000 wallyeter e wHhems 200000 @55 eAnmed, iIHS
wélghdHler eflemend GemnlLE s56i55emnad Sneivns.

—_——

&
increase in population. 7

&b HHIHFEN bEETOSTENS, QI é@ﬁb 20000 Sedlmma 25000 248 alehmgu ereufleD,

¥ s56lisenas snee. @9%@\' @ ek = 29 /
_Afowo

in a year, find the percentage

If the population in a town has increased f




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 2.2: PERCENTAGE INCREASE/DECREASE

Example 2.20 The number of literate persons in a city increased from 5 lakhs to 8 lakhs

in 5 years. What is the percentage of increase?

TOSHHSSTLH 2.20 @ haIdHle saellwmley aubm e &Herfleor srsémeaoﬂésem&,aﬂd)
gt )
5 @mt&ggleﬁ]@ﬁr@a@&,mggg ereuflen, 218) .- eBBLD 6160TEOT?




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 2.2: PERCENTAGE INCREASE/DECREASE

Kayal scored 225 marks out of 500 in revision test 1 and 265 out of 500-marks in revision

test 2. Find the pe crease in her score.
@Délﬂauaim&.@ﬁ)

s el wsH HGILEH Caield 500 WHIOURTEEHEE
SuesorLmd s Gg)ﬁsﬂd)ﬂauaim&,@é@ 260 dLIeLetT&HEDD eUHDT erefle,

216r 8 leueusen gidaflifer sseissmas Hneuns.
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PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 2.3: PERCENTAGE INCREASE/DECREASE

The value of a machine depreciates at 10% per year. If the present value is ¥ 1,62,000, what
is the worth of the machine after two years. T

&l QWS seor shGuremaw iy Td,62,00 EEUEIEUM(H 3ET0ThEGLD @evefiinh ST s Sleor
» 0 » - . » . » . » . . .
w&liy 10% Gemm&ng) ereufled, @_mﬂ(b_ 2}600T(b&6M &101&65 SielWnSI S s eor LOSILIL] eTevTe0T?

\é%QY%O ) \ G2 O@>I
:9&‘110(50 L___L (/—K .
| banyi= |




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 2.3: PERCENTAGE INCREASE/DECREASE

The cost of a machine is ¥18000 and it depreciates at 163% annually. Tts value after
2 years will be ~—

—

el @uibdlnsdleor eflemev 18000) ai5 4 to1(BES 16%% efigib Gallonerd siemL Emg).

-
2 her(B&EpSEGL NG, HH60T HIIY G,
(a) 312000 , /65\612500 (c) 15000 (d) 316500 _;LE%? @_
g5

o T, VRO R o F 2w
Z 26 D o5 ' R
\m q' o

6525 % D
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PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 2.3: PERCENTAGE INCREASE/DECREASE

The annual rate of growth in population of a town is 10% . If its present population

is 26620, the population 3 years ago was

&b HEISHIHT EEEMOGTNS JpetorBECHMMID 10% sifsfédng. g6 SHEUTEMSIL

&&aOSTEmS 26620 606\ 2% BT BEEDEE

4 (2662




PERCENTAGE (&8 6aigL0/all(0&&6M([H)

2022 GROUP 4

‘The population of a village increases at the rate of 7% every year. If the
present population is 90,000. The population after two years is

(A) 96,300 ALY AT
B) 1,03,000 \\ L % 9
() 1,00,000 | \0\

%03,041 - \,O 3/@ )

(E) Answer not known I I S
&L TempIdE, eﬁgtb 2HsfsEdng.

@uurg wasar Qgrens 90,000

‘  arafler 2 @nRsERéE DG n&STTosHer
wasdr Qgrevs A DI DOL "l\@) . 20 -

em dyrogdeér  waaCAgTens

(A) 96,300
B) 1,038,000
(C) 1,00,000
D) 1,083,041
(BE) e Osfuciders




PERCENTAGE (&8 6aigL0/all(0&&6M([H)

2021 GROUP 4

The population of a city in the year 2014 is 1,80,000 and increases at a
rate of 20% per year. Find the population of the city in the year- 20167

e

(A) 2,40,000 54 i
(B) 2,59,200 | YeRO0 X et % YR

(C) 2,55,000 \ - \ SR

(D) 2,54,300

(E) Answer not known C\‘% 22X \)ﬁ')—‘c(_;g 9//% O\/L OO0

Q0 bejsdear wisdr Ggrens 2014-@ 1,80, 000. 95 qalarm e 20%
U(B@GSTETTED 2016-pib D4@1() LHHET Qg,rrmas GTGHI &1 ?

(A) 2,40,000

ABF2,59,200 S i e w &b\k \M SRR
(©) 2,55,000 \ ¥0OOY ‘(x\béab >§\ggb
R B e -

(E) e Qsfwefdana
CEY




PERCENTAGE (&86aigL0/all(0551(5)
FORMULAS

1. Increased Quantity/ IS &f&GLD l6Mey

X
I=A(1+35)

2. Decreased Quantity/(&6OMUW|LD i6M6Y

X
D—A(l—m)

3. Net Effect/fl& [ LOMMHM & H6T &8 651D
(X+y +25%

4. % increase or decrease/ 318515 5/(GOMSSHLULLL FHaIHLD

__ Amount change

_ Qamemsuiled FmLU(HLD LOMDHMLD 10

X100 .
316V Q&M S

0

- Original Amount




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 3.1: CONVERTING FRACTION TO PERCENTAGE (. kOD/

\f\elTeuTThl BEDETE F56lS M HETTS LOMHMISHED

Convert the fractions as percentage. erenhisenend F5eliHma&anns THN)Is.

1 13 A 45 18 , 3 45 18

() — (i) = (iii) —  (iv) = xR om L o/ o 13 = D) iy 18
20 25 50 \_5 . (i) 20 (ir) 25 (1ir) 50 (Iv) 5

s/ Y SRS
2




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 3.2: CONVERTING PERCENTAGE TO FRACTION L—— | O 07
F5eligHensl) LN6TEOTONS LMHMIHE

7
Convert the following percentage as fractions. 5861551 eTanh&eTa IDMHHEYLD. 3 %
\ 1
(i) 50% (ii) 75% (iii) 250%  (5850% ) = (i) 75% \p© n (i) 250%
(iv) 301% (v) % (vi) 90% o) ) i) 90%

1 5, 3
gh ’@3{ S 7 o
i 15\ +
D%\ SNUN
\ %)

B0




PERCENTAGE (&8 6igL0/all(0&&6M([H)
Anbu scored 436 marks out of 500 in his exams. What was the percentage he scored?

Sieot| &b Cairefled 500 @ 436 wUALITIEET UDM] eTeufled, SieulT ALIDHM LDSILIEILIET0NSEDETE

el 55D 8o 11 ).
W e S

B5ES

7




PERCENTAGE (&8 6igL0/all(0&&6M([H)

In an election, Candidate X secured 48% of votes. What fraction will represent his votes?

—

Qb GCoisdled GCeulunaml el AUDD eundG&erler Feeligld 48% GD. 6T OUHD
aunéG&enatl (eTerons eeuaflliLiths&)s.

. ——2
|2
Jf%, / M \>_
1D “\ =
56
25

00
Y




PERCENTAGE (&8 6igL0/all(0&&6M([H)

Iniyan bought 5 dozen eggs. Out of that 5 dozen eggs, 10 eggs are rotten. Express the
number of good eggs as percentage. - PR\

Qevfler 5 Lseor (LemL&emar eunmhidleorni. AHed 10 (plemLsem &L (bHedLTe), HEDED
e —
L enLs6fler 856(8656m86 SHTeivns.
v

S AN :>—\D ——
i

3@ X%@ />%j/§




PERCENTAGE (&8 6igL0/all(0&&6M([H)

Ranjith’s total income was ¥7,500. He saved 25% of his total income. Find the amount
@ by him. '

QuendsdHleor 0ng euponend I7500. ifed 25% mE CalGHN erevfled, ieUT 6TEUENATEY
QHTEMEHMILE CHOGSHNIT 6Te0OTLIENSS &T6T0TS.

o X




10. Thendral saved one fourth of her salary. Her savings percentage is

ABETNE) Beurg eubLNaTS Sl 4 86 Qb Las Callisne g6 586i55mak s

1
(i) %% (ii) 7 % (iii) 25% (iv) 1%

11. Kavin scored 15 out of 25 in a test. The percentage of his marks is

sefleor 25 @&& 15 WElIeLeTur&emaTl] QUDDTED 56T 56151

(i) 60% (ii) 15% (1i1) 25% (iv) 15/25

Ny =5
O Q \' > 1 - = =
12, 0% \RD

= : 7
W 10 (i) _o ) m ) 10,000




PERCENTAGE (&86i5L0/a0(10581()
TYPE 3.3: CONVERTING DECIMAL Tom ~, \00 /

B0 GTETUBEDATE FHEHBONS LOMD MIFH6D

Convert these decimals to percentage. ~ 275 /

025 (@007 ()08 (V)03  ()3I5z gﬁL
fereubld 80 e Bamené E56i80Ms IHHEYLD.

(i) 0.245{\0«) (i) 0.07 (i) 0.8  (iv) 0.375 = (v) 3.75
0-22% Q0 = 2&7/

o{ﬁ% \DD= T /

Oy WY = 0/




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 3.4: CONVERTING PERCENTAGE TO DECIMAL (" * \OQ
FHEHBHEIBEDETS HFLD GTEHUTENNS LOMHMISED 4
Write these percentage as decimals. W
(i)3%  (i)25%  (iii)80%  (iv)67%  (v)17.5% (vi)135%  (vii) 0.5%

eoraumld 565 maamans g)&%rﬁaémn& srqggj&d & <o \3s L 25
(i) 3% (i) 25%_ (iii) _§g_9_6 (iv)£7_% (v) 17,5% (vi) 135% (vii) 0.5%

DR o B

—

@@ 0 2K \96\0)5 < 0-MYB




9. Decimal value of 142.5% is

(i) 1.425 (ii) 0.1425 (iii) 142.5
10. The percentage of 0.005 is O b“

(i) 0.005% (ii) 5% 0 u (111) 0.5%
11. The percentage of g is 4 }0

(i) 0.47% (ii) 4.7% (111) 47%
9. 142.5% =& s&w00M& WOMHMIETTED \]
1.425 (ii) 0.1425 (iii) 142.5
10. 0.005 =& ss6figions wnhrilermed
(i) 0.005% (i) 5% ().\4{ 0.5%

11. 4.7 @etr 856115 augauld
(i) 0.47% (ii) 4.7% (iii) 47%

(iv) 14.25
(iv) 0.05%

(iv) 470%

(iv) 14.25

(iv) 0.05%

/(1\/') 470%




PERCENTAGE (g8 apL0/e0(10&51®)
TYPE 3.5: CONVERTING mCENTAGE

( -
s hsenans FF6HFONSS &(HSSD
il

Example 2.17 Kuzhal’s mother makes dosa by mixing the batter madefrom 1 portion of

Urad dhal with 4 portions of rice. Represent each of the ingredients used in the batter as
percentage.

TbSHESMG 217 1 UhG 2 ©EnhHa WreyLer 4 Uk 8. &ons neie, Gwe ererLiefler
s Gareme swinfléHnnt ereufled, TeNedlh&EGED CLOOLIGIINTHETSEMETE &g,eﬁg,w[&,é GMlESHeYLD.

W

\ v ly

> |00

2
% O

| ¥

s




PERCENTAGE (&8 6igL0/all(0&&6M ()
TYPE 3.5: CONVERTING RATIO TO PERCENTAGE

el fghsenend FHelFONDs &(HSH60

Convert 6:4: 19 into percentage
/A

6:4:10 erénp Nflgseng 56d5LNE WrHM)
\

(A) 60% :40% : 100%

B) 6%:4% : 10%

G
©F 30%: 20% : 50% )
D)  30%:50% : 20% ﬂ
(D) 50% : 20% Xm\} 74»/(0\? 7&

Y é’m/ Bb/




PERCENTAGE (&8 6igL0/all(0&&6M([H)

TYPE 4: WORD PROBLEM

1. 14 out of the 70 magazines at the bookstore are comedy magazines. What percentage of the

magazines at the bookstore are comedy magazines?

Q0 Ussss semLuleierer 70 ussliflenssafled 14 usdliflenssen hensssanel LS IHflensseT

ereufled, g’;g‘;]rﬂ@g,&° . SHMETT 5.




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 4: WORD PROBLEM
2. A tank can hold @ of water. At present, it is l. How many litres of water

will fill the tank, so thapitis 50 % PlI?

2. @ setuetiis eanliguiler asneteneney 50 Ol LF&6T @b, sHBLNE e 30% Sevorenf i
HTbSlueTens ereufled, e 50% Sevoresvi I HlemmIL ST enILD 616565 r-65HaL ]




PERCENTAGE (g8 apL0/e0(10&5m1®)
TYPE 4: WORD PROBLEM

4. An agent of an insurance company gets a commission of 5% on the-basic premium he
collects. What will be the commission earned by him if he collectg34800?
4. e &S b Bineeardddar waa e Csaflésh ugluemL ljlmLtSlu_lgél &n&Ll

eI 6wl erp. T 4800 eol1 MSLILONS 6ugE0I&SMT ereufle, iUl QLML TGS ASTENS
J U * 30 g e
eTEUEUATEY?

D
PSS

e




PERCENTAGE (g8 apL0/e0(10&5m1®)

TYPE 4: WORD PROBLEM
Peter requirés 50% tQ pass. If he gets 280 marks and falls sho_@ by 20 jnarks, what would

have been the maximum marks of the exam?
————— /

S LT eredTUIOUT 66 GaiTelél @. gllieetor&enenll aUD NS Camevedl SHemLbSil. Sieul] QeoTenid

2 IeLetuT &6 aUDBIIEHETE, anss WwHlleusorsafld 50% aubml aeumr) auDAEBLILIMT

eT6uTl6D, GIOMES DS IOILIETTSEDETE HiTeToTs. 20X 2o

£ |
5! = 30 o/ = 2ov
[\%ké @] - (&




PERCENTAGE (&8 6igL0/all(0&&6M([H)
TYPE 4: WORD PROBLEM
A student gets 31 % marks in an examination but fails 6% 12 maikQ If the pass percentage

i$35%), find the maximum marks of the examination.
maximum marks o

& Lomesoreui 31% wllaueiraemetl aunm) 12 wHUaLeTs 6T Gamneuns aubngre Gaele
Gainédl eumelevemed. Gaiiddl eum 35% wElleueser GFemey erefled, Gaieler 6LONSHS
D SILICIETOTSHENENE &HITE00TS.

sl T
| D0 Y /
feer




9.

HOMEWORK

. When Mathi was buying her flat she had to put down a deposit of % of the value of the

flat. What percentage was this?
Yazhini scored 15 out of 25 in a test. Express the marks scored by her in percentage.

Out of total 120 teachers of a school 70 were male. Express the number of male teachers as
percentage.

A cricket team won 70 matches during a year and lost 28 matches and no results for two
matches. Find the percentage of matches they won.

There are 500 students in a rural school. If 370 of them can swim, what percentage of them
can swim and what percentage cannot?

The ratio of Saral’s income to her savings is 4 : l-What is the percentage of money saved by
her?

A salesman is on a commission rate of 5%. How much commission does he make on sales
worth 21,5007

In the year 2015 ticket to the world cup cricket match was ¥1,500. This year the price has
been increased by 18%. What is-the price of a ticket this year?

2 is what percentage of 507

10. What percentage of 8 is 64?




HOMEWORK

. 108 FarE AbEGWLMIYS GQuiGUenU aMhGLEUTE mealllsd OSTEn&IWNS AgHer. 0SS
10 @6b Q@b LUiem&F aFQIdHlemil ereufled, emeuliys asTenswiler s56i5D Snevrs.

. @ Gaielled wmflefl 25 B&@ 15 wHlIeLevraeT aLDHDNET ereufled, AFeir &36i5D SHnewons.

. & Uueteflulled ewondgpeter 120 pdflwisefled 70 pAfwiser yewrseT ereufled, Sy evor
Aflwuisefler s56lis5emas Hneons.

.0 LLeLU ubs (HM&esl) semfl @ eGLSSD. 70 Gurlysefld eeuHriuyb
28 Gumly&efled Gamevefyb 2 Gumliy&eafled (i ey a&Iolened ereoteyld SHhSmed 1ievoflulleor
Uil 556li55ma6 &atbdlbhs.

. & Anmolynll uetefluiled 500 wesoreui &6 LulleoTm) eub&leotment. S1leb 370 nesTeul &HEméd S
bhed esifluyd eefld, HHsd sfibsauiselsar sseisdemsyb, FHss esfiungeusefler
F56elisSamaWlD Sretors.

. &gemn ereorueufleor eaFlwSHnGD CHAINDGD QemL Guueter elldig 4:1 ereofled, euTs
GalliemLs 536l55H 6 8o m)s.

. 66 eiHUemedTIImeNTT Sieui QFILWYD elDUem TS aGnensuled 5% SI&M&L UMISDNT. SHeul a8
elihuement I 1500 ereufled, 6l QILMID SIS ereleveT6y?




HOMEWORK
8.2015 b yevnger 2 s Ganlenu dfléas. Guilyssnar memweydd v T1,500 8
BmHaE. HHBUNE 56 elened 18% 248 2 WIihsTE, HemeysF g6 eflened ereleueTey?
9. 50 @6 2 eredTLIgy eT6lENGTEY FSEHFIONGID?
10. 8 2_L a7 erdFement 36ligD Caimsne, 64 HewLdGD?



